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Series BVM/2 o Nz. 64/2/2
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Candidates must write the Code on the
title page of the answer-book.

o THUAT I R W foh 38 Y97 H Hlgd I8 12 § 9T 2 I8 HHIH % 7 |

o YW-UA H T TN H IR fGW MU FiE TR F BH IWETH h @Y T
o |

o HIA T B W foh 3 TA-TAH 22 T F |

o HUAT T H IW 1T I[E HI | UgeA, T T ShHATSH 7999 ford |

o TH Y-UA HI UG o 1T 15 i 1 T o o1 2 | WA-U 1 T qatg
H 10.15 & foraT ST | 10.15 91 & 10.30 S T B hadl TH-I5 I Tl
3R 39 @AY o G o ITL-YRETRT W hig I a1 [ |

e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (Hgr=ie)
GEOGRAPHY (Theory)
AeriRa ager : 3 o2 3EIHTH 37 : 70

Time allowed : 3 hours Maximum Marks : 70
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QT 3397 :

(@)
(i)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

3G Fv7-77 4 FT 22 F9T & |

Tyt go7 ST & |

o7 FEI 1 @ 7 37 TY-IF0T T & | Fb JoT 1 37 FT & | IAH To7 H
IR 40 T3 & 371e 787 &7 FET |

o7 G&qT 8 & 13 TY-IF0T J97 & | I J97 3 3 F & | FAF JoT BT
IR 80-100 =gl & 37U 78 &1 T |

97 &I 14 & 20 FH-30707 397 & | 9% F97 5 37H 7 & | Io9H 97 BT
IR 150 Feg! & 37fere 757 &7 =1 |

o7 T&IT 21 HITifcid TN Hl GEEE a7 3% A for@d & garad 8, I9
q&IT 22 Yiiiersh @emn #1 15T F1 39gE 8l @ gvid @ gefad 2 | 3%
Y75 3eh BT E |

T9H! 13T T fava TuT ARa & @T-grtadl # FTR-JIEddT & G IaeT
# /

{GT-TrfE] & @I & o7q Rifaer 1 2Taeied & I791T 1 3FHIT & T
g/

General Instructions :

(i)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5§ marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5§ marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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SECTION A

1. ory-fom foufie, fawarfa sHeen 1 ygfa & 8 v&fud s g 2 1

How does age-sex pyramid project the expanding trend in population ?
2. ‘OHa fowE % ‘Hearr JUTH H FeheddT i TG HINT | 1
Examine the concept of ‘welfare approach’ of ‘human development’.

3. XA | A i TUET o BT o fohegl g1 RV 1 3@ I | Ly
7T 2 2

A | ST < TR0 i foheal 31 faferi =1 3g@ i | i1

Mention any two reasons for the deterioration of water quality in India.
OR

Mention any two methods for the conservation of water in India.

4.  91Y UGV, HE TEreed i fohE Tehi Tl st & ? 1
T
e YGYUT, A TaTeed i fohE JehR THTferd et & 2 1

How does air pollution affect human health ?

OR
How does noise pollution affect human health ?

5.  WRA H A I HHE [oeh™ FAehish H TaIH TIH 1 3 ? 1

Why does Kerala have the highest rank in the Human Development
Index in India ?

6. ToR # v sfege & e gfoww’ fr el @ fomiwaren &1 sg@
Wl £+i=1
areran 2 2
gor ° e afeqa & SrRarer gfaew @ el o fomwarett o1 3g@
Hf | 1,14

2 2
Mention any two characteristics of linear pattern’ of rural settlements in

the world.

OR

Mention any two characteristics of ‘rectangular pattern’ of rural
settlements in the world.

7. “Farfercan w&ied’ =1 319 fafigu | 1

Write the meaning of ‘medical tourism’.

641212 3 PTO.



RCLERC)
SECTION B

8. fqu mu umfum o1 w@gigE® e Hifve 3t 3wk = fqu T gt % W
fof 1+1+1=3

w3 o 3 0fAN
N

(8.1) 3T T % 3I¢TH & GId Hl 3T HIT |
(8.2) 39 T I YA &7 IcATYHh =18 o =i FAT 31 8 2
(8.3)  3H T8 I HHIS &F o 0T 1Tk A Tee hIfT |

4




Study the given map carefully and answer the questions that follow :
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(8.1) Mention the source of origin of this canal.
(8.2) Why is the area to the east of the canal under lift irrigation ?

(8.3) Explain the economic significance of this canal for the command

area.
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Fie : el 397 9 gieanad ghenfel & 077, J97 G&I 8 & TIH WE

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 8 :

“Sfe e Tt 6 g0 TS W YHR § e Huie & HI HY refeaen gy
®Y Y TYARA 81 T8 3 |7 36 A ol TIL hIfT | 1x3=3

“Introduction of irrigation through Indira Gandhi Canal has brought
about a visible change in the agricultural economy of the canal command
area.” Explain the statement.

9. TS &I o G YA § HehlelH T o fasm @1 avia Hifv | 3
HAAAT
farfest wmem % gRH, WRa % 3Tyfie TR % fashm 1 o i | 3

Describe the development of medieval towns in India during the Mughal
period.

OR

Describe the development of modern towns in India during the British
period.

10.  “1921 9 1951 i 7@fT HI YRA § SaE hi R gig S yeeen & €9 4§
ST ST 8 17§96 9 ol JHTTG iR | 3

“The period from 1921 to 1951 is referred to as a phase of steady
population growth in India.” Substantiate the statement.

11. “OWa "EeEl % T Teaea: Thfd | HW 2, S 3% Siifed s w@dt 2 17

39 YA hl W@ HIT | 3
areat

“Gepfar 1 T SENfThT i faefad S W fore sif mewEt 2 17 39 weR A
T HIT | 3

“Human beings are directly dependent on nature for resources which
sustain them.” Examine the statement.

OR

“The knowledge about nature is extremely important to develop
technology.” Examine the statement.
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12. & T aifetent o1 ITewE HIfSU 3R 39 = feu u get & s fafew . 147+47=3
faed : STITT 37K 14917 (.79, 54 @ SRl H)

EEIG] 3R
$o1 AR AT | Thel AT HIA
1955 95,000 99,000
1965 1,90,000 1,99,000
1975 8,77,000 9,12,000
1985 19,54,000 20,15,000
1995 51,62,000 52,92,000
2005 1,03,93,000 1,07,53,000
2015 1,55,83,232 1,56,28,204

(12.1) SR H HH-AT €9 (I8]) d ghg HI a1 8 ?
(12.2) =1 A SAUR o IHET0 H Ihg §3 A1 1 53 2
(12.3) ARG FAT fohall STaT B 2 15 &1 SRV fAIfaT |

Study the following table and answer the questions that follow :

World : Imports and Exports (in millions of U.S. $)

Exports Imports
Total Merchandise | Total Merchandise

1955 95,000 99,000
1965 1,90,000 1,99,000
1975 8,77,000 9,12,000
1985 19,54,000 20,15,000
1995 51,62,000 52,92,000
2005 1,03,93,000 1,07,53,000
2015 1,55,83,232 1,56,28,204

(12.1) Which aspect of trade has shown rapid growth ?

(12.2) Has the total volume of trade increased or decreased ?
(12.3) Why does import take place ? Write any two reasons.

iz :  FHEIET 97 FacT FIEATEAT TATIAat & 1078, J97 §&q 12 & €9 W E -

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12 :

SRS SR o fH AgeqUl T8l hl STEAT hifT |

Explain three important aspects of international trade.

v

I1x3=3

P.T.O.
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13. YO % ®RU g gERfdA & Al % A9E H Fen-ge 8 TR TR
HhWIcHeh oo Tohe BId & ? SATET FHIT | 3
How does intermixing of people from diverse cultures due to migration
have positive values ? Explain.
QuE T
SECTION C
14, ‘SH@E faawr veg @ @@ AT 8 ? GER U SWEEAT & faaier s guied
S Tl WITTIToTeh Hehi <hl SATEAT ShifNTT | 1+4=5

What does the term ‘population distribution’ refer to ? Explain the
geographical factors influencing the distribution of population in the
world.

15. “GUr 4 WioH 9U8 U Arge fafie wqi w fafirm w9i § foman siar 2 17 =9
Y h! IgTET Flga gfee hHIfmT | Ix5=5

“Gathering and hunting are carried out at different levels with different
orientation in the world.” Support this statement with examples.

16. “YRd - HEUR o i ore A Sl § 8 Tsh 8 3K 38 <
3Tefeh ferehrel § HEwequl ANTEH o1 8 17 39 e shi Ifed =hIfT | 3+42=5

“Indian railways network is one of the longest networks of the world and
has contributed a lot to the growth of the economy.” Support the
statement.

17. “9Rd ® H1 % WRETE Gid A b 3R T=lewn Adhd i 3qaied
HAE |7 30 B I TG HIT | 5

HYAT

“ra & famE & fau @i gqeET 1 G0 SET TEeTS 3 | 39 U
&1 T iU | 5

“The non-conventional sources of energy in India will provide more
sustained and environment friendly energy.” Examine the statement.

OR

“Conservation of mineral resources is essential for the development of
India.” Examine the statement.

64272 8



18. URd o fehedl 31 YITAM o Gl 1 Ig@ hifory, Rl 3w % &t
g g R I H QA & & A g Ifg b U IwEE Fwwon H amen
HIT | 14242=5

Mention any two land use categories of India, which have shown an
increase in their areas. Explain the reasons responsible for increasing
areas in these two categories.

19. TER T B THH & YN IR ¥ IHE & U H =R T Hify | Ix5=5

HAYAT
TR H V-9 M SR GHS-3T4TNG I H 3T $95¢ HINT | Ix5=5

Differentiate between ‘small scale manufacturing’ and ‘large scale
manufacturing’ in the world.

OR

Differentiate between agro-based industries and mineral-based
industries in the world.

20. ‘UR-HEIET ITHT o U< hl 9UIF hIfWU | 5
HAYAT
“UR-h e THT o HEwd o1 9UH hillu | 5
Describe the significance of “Trans-Siberian Railway’.
OR

Describe the significance of ‘Trans-Canadian Railway’.

21. HER % fou U oHifos WEramtEs (98 13 W), § 9ie Wi aeon &
A,B,C,D 3R E ¥ fe@mm T 8 | Ih vguH Fefafad SRl i 7ee &

I 3R Ik T AW 37k I Tt 15 w@rel W fafan : Ix5=5
A, TS IYEROT HT S

B. 3N yem

C. 3I=AUSIT gaTs UTH

D. am &

E. R @wnt o R H wIH
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On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct

names on the lines drawn near them :
A. An area of nomadic herding

An industrial region

An international airport

A mega city

"o a W

The terminal station of “Trans-Continental Railway’

g :  HElcmEd 3vT @9 giREnaa whenidar & g, v aear 21 @& T
WE

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) 3ThTehT B fohelt Teh Totamet YRR & i 3g@ HINT |

(21.2) 09 & Torelt wen SirEifires e &1 9 fafEw |

(21.3) GIH U IR & Topell T STl gaTs U o1 4 fotfw |

(21.4) A & foreft T T &Y o1 9w fafew |

(21.5) UR-ATESEH @R & FRet T R o w3 &1 9m fafew | 1x5=5

(21.1) Mention any one area of nomadic herding in Africa.
(21.2) Name any one industrial region of Europe.

(21.3) Name any one international airport of the United States of
America.

(21.4) Name any one mega city of Brazil.

(21.5) Name any one terminal station of Trans-Siberian Railway.
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22. WA % U MU TSI W@-AERE (I8 15 W), § Fefafed 9 9 fast o
Miferes @eTun 1 fo@mgy oK 3 AW fafau Ix5=5

(22.1) fEs® S 1 10 TicRA § e e ara wal
(22.2) HUTE I U IcTGh TS

(22.3) USE H HIFAI SIS Teh

(22.4) glaoT (Wed) T AvSH S &I

(22.5) WEh H AU gATG ITH

(22.6) TSI § Y@ g IO

(22.7) @de! H qleT @H

(22.8) TR % FEE HA T ATAT T

Locate and label any five of the following geographical features on the
given political outline map of India (on page 15) :

(22.1) The city with more than 10 million population in West Bengal
(22.2) The leading producer State of cotton

(22.3) The software technology park in Punjab

(22.4) The Headquarter of Southern Railway Zone

(22.5) The international airport in Karnataka

(22.6) The major seaport in Gujarat

(22.7) Khetri copper mines

(22.8) The State with lowest level of urbanisation

641212 11 PTO.
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g :  FAelciEa 397 dac giEEnad ghentdel & 070, 397 G&7 22 @ T W
& | &IF i 397 57 FHE |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1) Ufvewm s § feoq 10 faferm 9 stfees S99 318t 1 9m
ffau |

(22.2) HRA ® -9 TST HUH H1 YU Ik 2 ?

(22.3) UE H fE¥d GiFea=R TaIcAiS UTeh o1 9 fIfau |

(22.4) Tfequr (Ue) & HUSH T GEATH HH-TT 8 ?

(22.5) ohdieeh U fEud TS IT gaT8 U= bl AW TRy |

(22.6) oA B o yg@ gt a1 AW fafaw |

(22.7) Wagl I dfar @H 9Rd & fore T | fova § 2

(22.8) WA o RIS & T T T ITet T 1 91 foafn | Ix5=5

(22.1) Name the city located in West Bengal having more than 10
million population.

(22.2)  Which is the leading producer State of cotton in India ?

(22.3) Name the software technology park located in Punjab.

(22.4) Which is the Headquarter of Southern Railway Zone ?

(22.5) Name the international airport located in Karnataka.

(22.6) Name the major seaport located in Gujarat.

(22.7) In which State of India are Khetri copper mines located ?

(22.8) Name the State of India having the lowest level of urbanization.

64272 12
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For question no. 21
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I F. 22 % forw For question no. 22
WA hT F@T-UH e (T iferes)
Outline Map of India (Political)
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